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How manv quarts are in 3 gallons?

Does the drawing show a line of symmetrv?

2l #18="7

Aln) 15 an elzht-sided polveon
Write 6,000 + 500 - 8 as a standard number,
712 —366=17

The answer to a subtraction problem is the

23+62+31=-17

RBound 462 815 1o the nearest hundred-thouwsand.

Thomas Elementary students are raising money to v new
playground equipment. I they rase 58 the first week, and
Lhen double the amount ransed cach week, in which week

will they raise S2567

Draw imtersecting lines.

How many quarters are in $1.757

Write the next number in the sequence. 45, 51. 57, ...
Find the median of 25, 37, 57, 12, and 75,

4242+3=7
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How manv cups are in 3 pints? e
) El d B L} T| & ¥
A line segment that passes through the
. N R 10 | 11 L2 i | 14 | 1% | 1&
cenler ol a arcle 15 called the
17 | 18 | 19 | 30 | &1 | &2 | ER
What is the date of the second Thursday atataloa ==
in April? The third Monday?!
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Lesson #101

Tl the radius of a circle 15 [0 inches, what 1= 11s diameter?

4265 % 31="7

Roumd 476,215 10 the nearest len thowsamd.

There are 2 pints in a quart. Write [ pints = [ quars three times,
Find the average of 100, 05, 93, &4, %0, and 94.

An eight-sided polvgon is ajn)

Write the next number in the sequence. 52, 50, 48, ..

86,214 + 38435 -7

Ex6—-7

Tdemtily cach ligure. A) +——e T3) r-""-ﬁ ) /
What is the tume 30 minutes before midnight?

132 - 40-—7

Is the width of a stamp about 1 inch or 1 foot?

7000 - 2557

The answer to an addition problem is the

ldentify the tvpe of angle. T

How many feet are in 2 miles? March
$ M T W T F &
‘4@ — 5.: ? L 2 i) & ]

Find the median of 10, 46, 32, 19, and 25.

L3 |t | 46 | d& | 17 | 15 | 1%
What is the date of the third Friday in T ETR AT R ETRET
March? Apri 1% will be on what day
of the week?

ar | &8 | x| 0| BE
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Tind the range of 1060, 96, 84, and 72.
Dioes a paper clip weigh about 1 gram or 1 kilogram?

By x4l —7

Diraw two congruent pentagons.

Q03 —266="7

Round 325,206 o the nearest hundred thousand.

A quadrilateral has _ sides.

TTow many pints are i a quarl? (TTinl: See Tesson 100
The distance across a cirele, through the center is the
14,244 + 26,376 ="7

Whal time 15 11 according o this clock?

4,625+5="7

TTow mamy months are 1 2 years?

Draw a ray.

Write the even numbers between 71 and 79,

O xQ=7

Jeff"s parents ook him to summer
camp three hours from home. They
will pick him up in 2 weeks. How
many hours will Jeff's parents travel
Loy gnl from camp?

Find the average of 25, 75, and 23

Which digit 15 in the thowsands place in 67,2147

Identify each angle. A} B]I C) _~
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TTow many pinls are i a quarl?
63,214 + 78,567 =7

I'he answer to a division problem 13 the

Draw similar pentagons.

iT+4=1

e = 5=1

Found 137,541 to the nearsst ten thousand.

If the diameter of a circle 13 16 mm, what 15 its rads?
703 - 266 =17

TTows many years are 8 centuries?

If 1t 13 6:30 now, what time
was it 7 hours ago?

6,373 O 6,733

1,053 +27="

How many dimes are in 53,007
Write 35,412 1in expanded forin.
G+ 25+ 17T+33—7

Draw a line of symmetry on the triangle.
TTow many guarts are in 3 gallons?

Find the median and the range of

100, a4, 34, 50 and 26.

Wlano plans 1o Ty 3 hickels o the school play. Tach tickel costs
52.75. How much will Mario spend on the tickets?
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Vrile the standand number Gor 500000 + 4000 - a00 — 20 = 3.

974,274 — 264,502 =7

Find the average of 14, 12, and 19,

Which is longer, a centumeter or a meter?

How many pints are in a quart?”
Any four-sided polyzon 15 ain)

Fw45-=-7

T

. I!' _—IJI—l._I— q_-;-—_._.._." I

It 15 1:20. What time will it be 2 hours

and 10 minutes from now?

R

A hexagon has sides.
How many pounds are in 2 tons?

225 =40=1

Round 37,304 to the nearest ten thousand.

1,645 =7 =7

Is this a polygon? @

98,400 1| 21,597 -7

Write the next two numbers in the sequence. 65, 61, 57, ...

TTow many leel are ina mile?

Half of the diameter of a circle
15 the

Which person recemved the most
votes! How manv votes did he
or she receve?

Mame Mumber of Votes
Beth TR TN TR
Caral TR TR 1Y
Angelo T TR S




Simpla Solutions™ Mathamatics T. E.

I

2 T

1L
11.

l":-

aan

Lesson #1058

G000 1288 7
How many ounces are in 2 pounds?

TJan - 21-7

Lena| 4

What word describes fipures with the same shape and size?

Draw a horizontal line,
What 15 the iome 43 minules belore noon?

An eight-sided polvgon is a(n)

o =4-7

Which is longer, 2 kilometers or 2 meters?
Find the range of 88, 16, 34, 48, and 27,
Tx8=7

567,819 + 778,463 =7

There are 12 children in a class. Each
child has 6 books. How many books
does the class have altopether?

How manv decades are 40 years?
How many degrees are in a right angle?
27 = 3=

The answer to a subtraction problem is the

Wrile the odd numbers between 30 and 40.
144 =24 =7

The distance around the oulside of a polygon
s the perimeter. lo find the perimeter of a
polveon, add the lengths of all of the sides.
Find the perimeter of the rectangle.

e

4 g

T om

2cm
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Tind the average of 16, 17, 24, and [

17T = 35="

Jeremy has 7 quarters. TTow much money does he have?
Draw two congruent squares.

Which digrt 15 in the hundred thowsands place 1n 3652147
How many inches are in a vard?

Mre. Jones earns 39.00 an hour at her job. She works 8 hours each
thay. TTow much wall she carn in 5 days?

893,425 + 218,366 =7
The diameter of a circle 15 20 meters, what is its radms?
How many cups are in a pini?

What fraction of the rectangle 15 shaded?

B3+9=7

Bound 373413 o the nearest hundeed thouwsand.

MName the shape. . 5 dm

Which 15 lomger, 3 [eel or 3 yards?

16,000 — 8,346 =7 5 dm

B dm

Find the perimeter of the =quare.

How many pints are in a quart?

5 dm
s =0="r

Is the more reasonable length of a rubber band, 6 cm or 600 cm?
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Lesson #107

TTow many centurnes are the same as 900 years?
78 % 23 =7
Tind the range ol 56, 8%, 30, 21, and 63.

The answer to a division problem 1z
the

Draw an obluse anple.

How many feet are in a mile?

B3 28R 7

Round 23,589 to the nearest ten thousand.
675,903 + 344,702 =
Figures having the same shape, but different sizes are .

Find the perimeter of the rectangle. 10 inchas

Bl +=9="
# inchgs

4x8="

Write the next number in the zequence. 74, B0, 86, 92, ...
6782 x 3 =17

What time was 1t 7 hours and 30 mimotes ago if it 15 830 now”
Write the standard mumber for 40,000 = 5,000 - 600 - 40 + 9,
MMank 15 4 lect 5 inches tall. What 15 TTank s height i inches?

5,687 O 5,876

Mrs. Evans 1s buving 13 tulip bulbs. Each bulb costs 5495, How
mmich change should she receive if she gives the clerk S80°7
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A guadnlateral has sicdes.

The distance around the outside of a polygon is the

7321 —34%8 =7

Which digit is in the thousands place in 57,8937

g x 32 =7

If the diameter of a circle 15 16 cm, what is the radins?
Find the median of 45, 88, 91, 32, and 8L

893,776 + 236,916 -7

How many pounds are the same as 4 tons?

An B-ounce package of lunch meat costs 3264, TTow much 1= the
hinch meat per ounce?

The answer to a multiphcation problem s the

3606 -6=7

How many quarts are i 3 gallons?

Tt 15 2:45 now., What time wall 1t be in 4 hours and 15 minutes?
67+ 19+45=-17

Would a televizion best be weighed m pounds or in loms?

MName the shape, ' 3em

b B—7 2 om Zem
Is the number 34,867 even or odd?

Find the perimeter of the hexapon.

Jem Zem

3 em
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Lesson #1009

l. TTow many pinls are m a quarl?
2. Mix25="
3. AQ0oD - 18271 7

4. Would a pair of scissors best be weighed i grams or in kilograms?

3. What 15 the perimeter of this square?” 12 em

6. 3T T - B2, 35T =7

7. Found 3.716.2534 to the nearest hundred. 12 em 2 em
B, 6x9-=7

9. What is the time 43 minutes after twelve noon? i2em
7). Any lour-sided polygon 15 afn)
11. Which digit is in the ten thousands place in 3762137
12. Tind the average of 55, 59 60, 539 and 37

13, An angle less than 90° 15 ain) angle.

14, Gl ~ 20 =7

15. Jill counted 572 birds in 4 hours. If she
counted the same number of birds each hour,
how many birds did she count in 1 howr?

16. How many feet are in a mile?
17. Kelly is 6 feet 4 inches tall. How many
inches tall 1s Kellv?

18, 47 +9=7
19 Does this diagram show a line of symmetry?

20 How many quarters are in $3.007
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Lesson #110

Tind the range ol 37, 56, 99, and [3.
12x31="7

T

List the odd numbers between 50 and 40,
Draw intersecting lines,

What tume 15 shown on the clock?

There are 1,000 grams in a Kilogram.
Wrale L000 g kg three bmes,

8,017 — 2,359 =7

437 x4=17

How many centuries are in 600 vears?
Yah,042 + BE3914 =7

If the diameter of a cirele 15 10 mm.,
what 15 its radius?

236 5=1
How manv ounces are in 3 pounds?

Does a tennis ball weigh about 57 g or 57 ka?

9 fr

Find the average of 135, 375, and 450.
& f1

Find the penmeter of the rectangle to the right.

An eight-zided polyvgon 1s called ain) o

A game costs 32495, 1f vou pay the clerk with a 850,00 bll, how
mmch change will vou recerve?

The distance around the outside of a polygon is the

& fr



